
Assembly instructions
JPM

Kit 5400
S

m
a
rT

e
a
m

 I
D

:

www.troax.com
1:20As s em bly  ins truc tions 0.141 / 7

88754428
FM  Panic  barFM  Sm artFix FM

0
0
0
3
1
8
9
8

A4

Panic bar

SmartFix

FM

Follow Me

0.14

5
m

m

1
0

m
m

1/
4"

 (
6,

4 
m

m
)

3
m

m

4
m

m

1
3

m
m



www.troax.com
1:20As s em bly  ins truc tions 0.142 / 7

88754428
FM  Panic  barFM  Sm artFix FM

0
0
0
3
1
8
9
8

A4

Panic bar

SmartFix

FM

Follow Me

S
m

a
rT

e
a
m

 I
D

:

0.14

Option

1

1  4,2x13 (x7)
20500330

Optional cover plate



1 5

2

34

1
5

8
9
0
5
0
0
4
2

Ø8x1,5
89050269

Ø8x4
36700082

M8
89050525

1  M8x35
8
9
0
5
0
1
3
8

2  M8x35 543

3
6
9
0
0
8
1
9

3
6
9
0
0
8
0
9

3
6
9
0
5
1
5
0

3
6
7
0
0
0
7
4

3
6
9
0
0
5
0
9

1:20As s em bly  ins truc tions 0.143 / 7

88754428
FM  Panic  barFM  Sm artFix FM

0
0
0
3
1
8
9
8

A4

Panic bar

SmartFix

FM

Follow Me

S
m

a
rT

e
a
m

 I
D

:

www.troax.com 0.14

1

2
1

5

1

2
2

5



2

1

1  M5x16
89050136

5

3

4

1

2

3
6

9
0

0
5

9
9

8
9

2
0

0
1

0
3

2
0

5
0

0
3

3
05

43

2

1:20As s em bly  ins truc tions 0.144 / 7

88754428
FM  Panic  barFM  Sm artFix FM

0
0
0
3
1
8
9
8

A4

Panic bar

SmartFix

FM

Follow Me

S
m

a
rT

e
a
m

 I
D

:

www.troax.com 0.14



1

4

3

Cut to
 L=56mm

4  3  19x1x35
89020395

2  M6x55 
89050027

1  

1:20As s em bly  ins truc tions 0.145 / 7

88754428
FM  Panic  barFM  Sm artFix FM

0
0
0
3
1
8
9
8

A4

Panic bar

SmartFix

FM

Follow Me

S
m

a
rT

e
a
m

 I
D

:

www.troax.com 0.14

2



2

4

1

3

2

1

4

3

  Door blade:     Length:
       800                696
      1000               896

1:20As s em bly  ins truc tions 0.146 / 7

88754428
FM  Panic  barFM  Sm artFix FM

0
0
0
3
1
8
9
8

A4

Panic bar

SmartFix

FM

Follow Me

S
m

a
rT

e
a
m

 I
D

:

www.troax.com 0.14

4321



1
7

,5
1

7
,5

2

1

3
6

9
0

0
8

2
9

1  4,2x13
20500330

2

1:20As s em bly  ins truc tions 0.147 / 7

88754428
FM  Panic  barFM  Sm artFix FM

0
0
0
3
1
8
9
8

A4

Panic bar

SmartFix

FM

Follow Me

S
m

a
rT

e
a
m

 I
D

:

www.troax.com 0.14


